ALGEBRA

ADDING, SUBTRACTING, 
MULTIPLYING, AND FACTORING POLYNOMIALS

REVIEW

9.1 – 9.3
Write each polynomial in standard form.  Then name each polynomial based on its degree and number of terms.
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Name:  2nd degree trinomial
2.  
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Name:  7th degree 5-nomial
3.  
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Name:  1st degree monomial
Simplify the following.  Write your answers in standard form.  (HINT:  Be sure to do the proper operation.)
1.  
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2.  
Problem:
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3.  
Problem:


[image: image11.wmf](

)

(

)

9357452

946234724

xxxxxxx

-+++-+--



Work:



[image: image12.wmf](

)

(

)

953

7542

975432

9       6         4         2

    374        24

93134422

xxx

xxxx

xxxxxx

+-+

++---

++----


4.  
Problem:
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5.  
Problem:
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6.  
Problem:
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Find the GCF of the terms of each polynomial.
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Factor each polynomial completely.

1.  
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Simplify each product.  Write in standard form.
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Application.

A tool and die company is cutting a die with the dimensions as given in the diagram below.  
[image: image37]
	AREA
	DIMENSIONS
	AREA FOUND

	#1
	(3x + 1) by (7x)
	
[image: image38.wmf]2

217

xx

+



	#2
	(10x + 2) by (3x + 4)
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	#3
	(3x + 2) by (3x + 4)
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	#4
	(6x + 2) by (2x + 1)
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	#5
	(10x + 2) by (3x + 4)
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	Overall
	(15x + 7) by (10x + 4)
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A.  Find each area.

B.  Determine the sum total of the five areas.
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C.  Determine the amount of area NOT used.











[image: image45.wmf]22

22

2

    15013028       15013028

(10212726)(10212726)

                                        

        4832

xxxx

xxxx

xx

++®++

-++®+---

++




If I were to prove the answer is correct, I could use the following:

x = 2

	AREA
	DIMENSIONS
	AREA FOUND

	#1
	(3x + 1) by (7x)
	7(14) = 98

	#2
	(10x + 2) by (3x + 4)
	22(10) = 220

	#3
	(3x + 2) by (3x + 4)
	8(10) = 80

	#4
	(6x + 2) by (2x + 1)
	14(5) = 70

	#5
	(10x + 2) by (3x + 4)
	22(10) = 220

	Overall
	(15x + 7) by (10x + 4)
	37(24) = 888


Sum of the 5 areas:
98 + 220 + 80 + 70 + 220 = 688

Shaded area:

888 - 688 = 200
(Big area minus all the little areas)
Using algebra:
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